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GENERAL STUDIES AND ARITHMET]C

Time Allowed - 2 Hours 30 Minutes

Group A: 100 Marks

Group B: 50 Marks

Separate Answer Books to be used for Group A and Group B.
(In case a candidate writes answer to questions on Group B in the

answer book meant for Group A and vice-versa, slch
answers will not be evaluated.)

lf the questions attempted are in excess of the prescibed number,
only the questions attemptedfirst up to the prescibed number

shall be valued and the remaining ones ignored..

The figures in the margin indicate marks for each quesrion.

Group A
(General Srudies)

Answers mat be written in Englhh or in Bengali or in Nepali but
all the answers must be in one and the same languaje.

part-I

Atswer Question No. I aad any two from the rest.

write a nore on the 'one Belt one Road' (oBoR) policy and exprain its significance with respect ro
)n

pafi-[
Answer a// the questions.

6. Write down the firll form of the following abbreviations:
2x5=10(a) SAIL

O) TOEFL

(c) CTBT
(d) ASEM
(e) UDDI

1

Full Marks - 150

Please Turn Over

2' What are the sarient features of the Ayushnan Bharat scheme? Mention your own observationsabout the problems of health care in India. 
15

3' Give a brief account of how the_covid-I9 pandemic has affected economic conditions worldwidewith special reference to the India[ econ".f - - 
15

4' Wrire a note on the united Nations.Climate change conference of 201g herd in Spain with specialemphasis upon the implications of its con.id;;;;;;;;dt ipon the world climate. 15
5. What is MSp? Give a detailed account of its significance in Indian agriculture. 
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8. Answer the following:
(a) Through which Indian state does the Shimsha river flow?

(b) In which year was Mohenjodaro declared as a UNESCO World Heritage site?

(c) In which Indian state is the folk dance of Modse performed?

(d) Who is the present Prime Minister of Thailand?

(e) What is the name of tle current govemor of the Reserve Bank of India?

2x5=10

9. Answer the following:

(a) Who is considered to be the leader of the 'Chipko Movement'?

(b) Where is the National Institute of Rural Development (NIRD) situarcd?

(c) What does a Fathometer measure?

(d) Who is known as the 'father' of Indian missile technology?

(e) Which is a green planet in the Solar System?

10. Answer the following: 2x5=10

(a) Who said,"Inflation is unjust but deflation is inexpedient' Of the two' deflation is worse "?

(b) Fedaration Cup, World Cup, Allwyn Intemational Trophy and Challenge Cup are awarded to

winners in which sPort?

(c) In which city was the Kempegowda festival organized in 2017?

(d) Who is the first lndian woman to win the Man Booker prize?

(e) To which country does the telecom country Nokia belong?

(2)

7. Mention the year in which the following schemes/programmes was launched:

(a) Pradhan Mantri Jan Dhan Yojana

(b) Digital India Programme

(c) Integrated Child Development Services

(d) Jawaharlal Nehru National Urban Renewal Mission

(e) Pradhan Mantri Ujjwala Yojana

GrouP B
(Arithmetic)

Answers may be given in Englkh or in Bengali but all the

answeis must be in one and the same language'

Answer anr ler questions'

l. ln a club, every member contributed as many 50 rupees as the number of members to raise the

subscription of amount Rs' 31'250' How many members are there in that club?

2. A number becomes 600 if it rs reduced by 407o Find the rate of increase to make it 1600'

2x5=10

5x l0=50

3. Find the simPlest value of 1.2 - 0.74 - 0.99 - 0.85 - Jm6
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4.50kgs.ofType-Imixturecontains10kgs.ofurea,while80kgs.ofType-Ilmixturccontains24kgs.
of urea. A total of 60 kgs. of mixture is collected from these two types to prepare a mixturc of
Type-Itr and ir is found to contain 15 kgs. of urea. what is the ratio of two types of mixturcs in the
mixtue of Type-trI?

5.30%ofsellingpriceofanarticleisequalto,lO%ofitscostpriceand45%ofissellingpriceexceeds
50% of its cost price by Rs. 10. Determine the cost price of the article.

6. Find the rate of increase of the cost price in order to m ake a profit of 20% by selling an article after
giving l0% rcbate on marked price to a customer.

7' Mixing sand and cement in the ratio 6 : l, a mason prepared a mixture for construction. At thecompletion of consruction, it is found that yet 70 kgs. of mixture were unused. Then he added morecement to it and prepared a mixture of ratio-s : l. How much cement did he add to it later?

8' The length of a rcctangular field is thee times of its breadth and its arca is 972 m2. Measure out theperimeter of the field.

9' A work is compreted 6 days earlier when60 workers arc engaged replacing 40 workers to do it. Howmany persons are rcquired to complete the same work in iO Lys 
"artie.t

I 0' The food of 90 days is stored up for a troop consisting of 500 soldiers. After I g days, I 00 additionalsoldiers joined the said roop without an, iaor,.r"ii*a. f i.ount of .or"y .eant for food of
f::;.io,l":: 

* .*rced fiom Rs. 30 to n.. zs, ,r,"" i"L*,r"" i. nr_'.. or auys the food can cater

11. Therc are three pipes fitted in a tant. The first one can fill it in liin 30 minutes. only tfuough the third one, the fiil; 
"*;_' 

mrnutes, the second one can fill it
three pipes are opened sim-ultaneously when one-fourth p* of ,*"'t'Pv 

in 20 minutes. If all the
amount of rime the ranl wiu rake ,.,i,"r.lir.iinir 

";i;;,:;;t 
t* is filled up. measure our rhe

12' A person gets 5 items more than earlier at the cost ofRs. 50 when the cost of it is reduced by Rs. 4per dozen what is the percentage of reduction or o" 
""ri"r "'a"r"n 

of the same items at present?
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